

Coefficient Bounds For New Subclasses Defined Using Frasin Differential Operator

Jenifer Arulmani

*Department of Mathematics,
Presidency College(Autonomous), Chennai -600 005, Tamilnadu, India.
email: jeniferarulmani06@gmail.com*

Abstract

In this paper we defined two new subclasses of the function class Σ of bi-univalent and analytic functions in the unit disk which are associated with Frasin differential operator[6]. We find some coefficient bounds for the functions in the defined subclasses. As special cases, well-known results were obtained by varying parameters in the main results.

Keywords: coefficient bounds, bi-univalent, subclasses, differential operator.
Subject Classification: 30C45.

1 Introduction

We denote by A the class of regular functions defined in the open unit disk $\Delta = \{z : |z| < 1\}$ with the normalization conditions $f(0) = f'(0) - 1 = 0$ and the Taylor series expansion,

$$(1.1) \quad f(z) = z + \sum_{k=2}^{\infty} a_k z^k$$

By the Koebe-one quarter theorem[4](Theorem.2.3 pg.31), we know that "The range of every function of the class S contains a disk $\{w : |w| < 1/4\}$ ". Hence there exists inverse f^{-1} for every function $f \in S$, defined by

$$f^{-1}(f(z)) = z, (z \in \Delta)$$

and

$$f(f^{-1}(w)) = w, (|w| < r_0(f) : r_0(f) \geq 1/4).$$

Where the inverse of f is given by,

$$\begin{aligned} f^{-1}(w) &= w - a_2 w^2 + (2a_2^2 w^2 - a_3) w^3 - (5a_2^2 - 5a_2 a_3 + a_4) w^4 + \dots \\ &=: g(w) \end{aligned}$$

A function $f \in A$ is said to be bi-univalent if both f and f^{-1} (its inverse) are univalent in Δ . We denote by Σ the class of bi-univalent and analytic functions

in Δ of the form (1.1).

Using the binomial series,

$$(1 - \lambda)^m = \sum_{j=0}^m \binom{m}{j} (-1)^j \lambda^j, m \in \mathbb{N} = 1, 2, \dots \text{ and } j \in \mathbb{N}_0 = 0, 1, 2, \dots$$

Frasin [6] defined the following differential operator for function $f \in A$,

$$\begin{aligned} D^0 f(z) &= f(z) \\ D_{m,\lambda}^1 f(z) &= (1 - \lambda)^m f(z) + (1 - (1 - \lambda)^m) z f'(z) \\ &= D_{m,\lambda} f(z), \quad (\lambda > 0; m \in \mathbb{N}) \end{aligned}$$

In general,

$$\begin{aligned} D_{m,\lambda}^n f(z) &= D_{m,\lambda}(D_{m,\lambda}^{n-1} f(z)), \quad n \in \mathbb{N}_0 \\ &= z + \sum_{k=2}^{\infty} [1 + (k-1)c_j^m(\lambda)]^n a_k z^k \end{aligned}$$

where, $c_j^m(\lambda) = \sum_{j=1}^m \binom{m}{j} (-1)^{j+1} \lambda^j$.

Remark

1. For $m = 1$, we get the Al-oboudi differential operator, $D_{1,\lambda}^n$ [1].

2. For $m = \lambda = 1$, we get the Salagean differential operator, D^n [8].

We consider \mathbb{P} to be the class of Caratheodary functions. *i.e.*, for $p(z) \in \mathbb{P}$, $\Re\{p(z)\} > 0$, $p(z)$ is analytic in Δ and have the series expansion

$$p(z) = 1 + \sum_{n=1}^{\infty} p_n z^n, \quad z \in \Delta$$

Lemma 1. *If $p(z) \in \mathbb{P}$, then $|p_n| \leq 2$ for each $n = 1, 2, \dots$*

2 The function class $N_{\Sigma}^{\zeta,\mu}(m, \gamma, \lambda; \alpha)$

Definition 1. *A function $f(z)$ of the form (1.1) in the function class Σ is said to be in the class $N_{\Sigma}^{\zeta,\mu}(m, \gamma, \lambda; \alpha)$ if and only if*

$$\left| \arg\left\{ (1 - \gamma) \left(\frac{D_{m,\lambda}^{\zeta} f(z)}{z} \right)^{\mu} + \gamma [D_{m,\lambda}^{\zeta} f(z)]' \left(\frac{D_{m,\lambda}^{\zeta} f(z)}{z} \right)^{\mu-1} \right\} \right| < \frac{\alpha\pi}{2}$$

$(0 < \alpha \leq 1; \lambda > 0, \gamma \geq 1; m \in \mathbb{N}; \zeta \in \mathbb{N}_0; \mu \geq 0; z \in \Delta)$
and

$$\left| \arg\left\{ (1 - \gamma) \left(\frac{D_{m,\lambda}^{\zeta} g(w)}{w} \right)^{\mu} + \gamma [D_{m,\lambda}^{\zeta} g(w)]' \left(\frac{D_{m,\lambda}^{\zeta} g(w)}{w} \right)^{\mu-1} \right\} \right| < \frac{\alpha\pi}{2}$$

$(0 < \alpha \leq 1; \lambda > 0, \gamma \geq 1; m \in \mathbb{N}; \zeta \in \mathbb{N}_0; \mu \geq 0; w \in \Delta)$, where $g := f^{-1}$.

- Remark 1.** 1 If $m = 1$ in Definition.1 we have, $N_{\Sigma}^{\zeta, \mu}(1, \gamma, \lambda; \alpha) = N_{\Sigma}^{\lambda, \mu}(\zeta, \alpha, \gamma)$ the class introduced and studied by Sarep Bulut[9].
- 2 If $m = \lambda = 1$ in Definition.1 we have, $N_{\Sigma}^{\zeta, \mu}(1, \gamma, 1; \alpha) = N_{\Sigma}^{\zeta, \mu}(\alpha, \gamma)$ the class introduced and studied by Bilal Seker et al.[10].
- 3 If $\zeta = 0$ in Definition.1 we have, $N_{\Sigma}^{0, \mu}(m, \gamma, \lambda; \alpha) = N_{\Sigma}^{\mu}(\alpha, \gamma)$ the class introduced and studied by Caglar et al.[3].
- 4 If $\zeta = 0$ and $\mu = 1$ in Definition.1 we have, $N_{\Sigma}^{0, 1}(m, \gamma, \lambda; \alpha) = \mathfrak{B}_{\Sigma}(\alpha, \gamma)$ the class introduced and studied by Frasin and Aouf[5].
- 5 If $\zeta = 0$ and $\mu = \gamma = 1$ in Definition.1 we have, $N_{\Sigma}^{0, 1}(m, 1, \lambda; \alpha) = H_{\Sigma}^{\alpha}$ the class introduced and studied by Srivastava et al.[11].
- 6 If $\zeta = \mu = 0$ and $\gamma = 1$ in Definition.1 we have, $N_{\Sigma}^{0, 0}(m, 1, \lambda; \alpha) = S_{\Sigma}^{*}[\alpha]$ the class of strongly bi-starlike functions of order α , studied by Brannan and Taha[2].
- 7 If $\mu = 1$ and $m = \lambda = 1$ in Definition.1 we have, $N_{\Sigma}^{\zeta, 1}(1, \gamma, 1; \alpha) = \mathfrak{B}_{\Sigma}(\zeta, \alpha, \gamma)$ the class introduced and studied by Porwal and Darus [7]

3 Coefficient bounds for the function class $N_{\Sigma}^{\zeta, \mu}(m, \gamma, \lambda; \alpha)$

Theorem 1. Let the function $f(z)$ given by (1.1) is in the class $N_{\Sigma}^{\zeta, \mu}(m, \gamma, \lambda; \alpha)$ with $(0 < \alpha \leq 1; \lambda > 0, \gamma \geq 1; m \in \mathbb{N}; \zeta \in \mathbb{N}_0; \mu \geq 0; z \in \Delta)$, then

$$|a_2| \leq \frac{2\alpha}{\sqrt{(1 + c_j^m(\lambda))^{2\zeta}(\gamma + \mu)^2 + \alpha A}}$$

and

$$|a_3| \leq \frac{2\alpha}{(1 + 2c_j^m(\lambda))^{\zeta}(2\gamma + \mu)} + \frac{4\alpha^2}{(\gamma + \mu)^2(1 + c_j^m(\lambda))^{2\zeta}}$$

where

$$A = [2(1 + 2c_j^m(\lambda))^{\zeta}(2\gamma + \mu) - (1 + c_j^m(\lambda))^{2\zeta}(\gamma^2 + 2\gamma + \mu)]$$

Proof. Definition.1 can be writtern as,

$$(3.1) \quad (1 - \gamma) \left(\frac{D_{m, \lambda}^{\zeta} f(z)}{z} \right)^{\mu} + \gamma [D_{m, \lambda}^{\zeta} f(z)]' \left(\frac{D_{m, \lambda}^{\zeta} f(z)}{z} \right)^{\mu-1} = [c(z)]^{\alpha}, \quad (z \in \Delta)$$

$$(3.2) \quad (1 - \gamma) \left(\frac{D_{m, \lambda}^{\zeta} g(w)}{w} \right)^{\mu} + \gamma [D_{m, \lambda}^{\zeta} g(w)]' \left(\frac{D_{m, \lambda}^{\zeta} g(w)}{w} \right)^{\mu-1} = [d(w)]^{\alpha}, \quad (w \in \Delta)$$

where $c(z)$ and $d(w)$ are in \mathbb{P} and have the series expansions

$$c(z) = 1 + c_1z + c_2z^2 + \dots$$

and

$$d(z) = 1 + d_1z + d_2^2w^2 + \dots$$

Equating the coefficients of z , z^2 , w and w^2 by using the above equations in (3.1) and (3.2), we get

$$(3.3) \quad (1 + c_j^m(\lambda))^\zeta(\gamma + \mu)a_2 = \alpha c_1$$

$$(3.4) \quad (1 + 2c_j^m(\lambda))^\zeta(2\gamma + \mu)a_3 + (1 + c_j^m(\lambda))^{2\zeta}(\mu - 1)(\gamma + \frac{\mu}{2})a_2^2 = \alpha c_2 + \frac{\alpha(\alpha - 1)}{2}c_1^2$$

$$(3.5) \quad -(1 + c_j^m(\lambda))^\zeta(\gamma + \mu)a_2 = \alpha d_1$$

(3.6)

$$(1 + 2c_j^m(\lambda))^\zeta(2\gamma + \mu)(2a_2^2 - a_3) + (1 + c_j^m(\lambda))^{2\zeta}(\mu - 1)(\gamma + \frac{\mu}{2})a_2^2 = \alpha d_2 + \frac{\alpha(\alpha - 1)}{2}d_1^2$$

From (3.3) and (3.5), we obtain

$$(3.7) \quad c_1 = -d_1$$

and

$$(3.8) \quad 2(1 + c_j^m(\lambda))^{2\zeta}(\gamma + \mu)^2a_2^2 = \alpha^2(c_1^2 + d_1^2)$$

Also from (3.4), (3.6) and (3.8), we have

$$[2(1 + 2c_j^m(\lambda))^\zeta + (1 + c_j^m(\lambda))^{2\zeta}(\mu - 1)](2\gamma + \mu)a_2^2 = \alpha(c_2 + d_2) + \frac{\alpha(\alpha - 1)}{2}(c_1^2 + d_1^2)$$

We use (3.8) in the above equation so that

$$(3.9) \quad a_2^2 = \frac{\alpha^2(c_2 + d_2)}{2\alpha(1 + 2c_j^m(\lambda))^\zeta(2\gamma + \mu) + (1 + \gamma)^{2\zeta}(\gamma + \mu)^2 - \alpha(\gamma^2 + 2\gamma + \mu)}$$

Using Lemma.1 from the above equation we get the required inequality for $|a_2|$. Now to find the bound for $|a_3|$, first we subtract (3.6) from (3.4). Thus we get

$$(3.10) \quad 2(1 + 2c_j^m(\lambda))^\zeta(2\gamma + \mu)a_3 - 2(1 + 2c_j^m(\lambda))^\zeta(2\gamma + \mu)a_2^2 = \alpha(c_2 - d_2) + \frac{\alpha(\alpha - 1)}{2}(c_1^2 - d_1^2)$$

From (3.7), (3.8) and (3.10), it follows that

$$(3.11) \quad a_3 = \frac{\alpha^2(c_1^2 + d_1^2)}{2(1 + c_j^m(\lambda))^{2\zeta}(\gamma + \mu)^2} + \frac{\alpha(c_2 - d_2)}{2(1 + 2c_j^m(\lambda))^\zeta(2\gamma + \mu)}$$

By applying Lemma.1 in the above equation we get the desired estimate for a_3 . \square

By considering $m = 1$ in Theorem.1 we have the following corollary, a result by Serap[9]

Corollary 1. [9] *Let the function $f(z)$ given by (1.1) is in the class $N_{\Sigma}^{\zeta, \mu}(\gamma, \lambda; \alpha)$ with $(0 < \alpha \leq 1; \lambda \geq 0, \gamma \geq 1; \zeta \in \mathbb{N}_0; \mu \geq 0, z \in \Delta)$, then*

$$|a_2| \leq \frac{2\alpha}{\sqrt{(1+\lambda)^{2\zeta}(\gamma+\mu)^2 + \alpha[2(1+2\lambda)^{\zeta}(2\gamma+\mu) - (1+\lambda)^{2\zeta}(\gamma^2+2\gamma+\mu)]}}$$

$$|a_3| \leq \frac{2\alpha}{(1+2\lambda)^{\zeta}(2\gamma+\mu)} + \frac{4\alpha^2}{(\gamma+\mu)^2(1+\lambda)^{2\zeta}}$$

By considering $m = \lambda = 1$ in Theorem.1 we have the following corollary, a result by Seker *et al.*[10]

Corollary 2. [10] *Let the function $f(z)$ given by (1.1) is in the class $N_{\Sigma}^{\zeta, \mu}(\gamma; \alpha)$ with $(0 < \alpha \leq 1; \gamma \geq 1; \zeta \in \mathbb{N}_0; \mu \geq 0, z \in \Delta)$, then*

$$|a_2| \leq \frac{2\alpha}{\sqrt{2^{2\zeta}(\gamma+\mu)^2 + \alpha[2 \cdot 3^{\zeta}(2\gamma+\mu) - 2^{2\zeta}(\gamma^2+2\gamma+\mu)]}}$$

$$|a_3| \leq \frac{2\alpha}{3^{\zeta}(2\gamma+\mu)} + \frac{4\alpha^2}{(\gamma+\mu)^2 2^{2\zeta}}$$

By considering $\zeta = 0$ in Theorem.1 we have the following corollary, a result by Caglar *et al.*[3]

Corollary 3. [3] *Let the function $f(z)$ given by (1.1) is in the class $N_{\Sigma}^{\mu}(\gamma; \alpha)$ with $(0 < \alpha \leq 1; \gamma \geq 1; \mu \geq 0, z \in \Delta)$, then*

$$|a_2| \leq \frac{2\alpha}{\sqrt{(\gamma+\mu)^2 + \alpha(\mu+2\gamma-\gamma^2)}}$$

$$|a_3| \leq \frac{2\alpha}{(2\gamma+\mu)} + \frac{4\alpha^2}{(\gamma+\mu)^2}$$

By considering $\zeta = 0$ and $\mu = 1$ in Theorem.1 we have the following corollary, a result by Frasin *et al.*[5]

Corollary 4. [5] *Let the function $f(z)$ given by (1.1) is in the class $\mathfrak{B}_{\Sigma}(\gamma; \alpha)$ with $(0 < \alpha \leq 1; \gamma \geq 1; z \in \Delta)$, then*

$$|a_2| \leq \alpha \frac{2}{\sqrt{(\gamma+1)^2 + \alpha(1+2\gamma-\gamma^2)}}$$

$$|a_3| \leq \frac{2\alpha}{(2\gamma+1)} + \frac{4\alpha^2}{(\gamma+1)^2}$$

By considering $\zeta = 0$ and $\mu = \gamma = 1$ in Theorem.1 we have the following corollary, a result by Srivastava *et al.*[11]

Corollary 5. [11] *Let the function $f(z)$ given by (1.1) is in the class H_{Σ}^{α} with $(0 < \alpha \leq 1; z \in \Delta)$, then*

$$|a_2| \leq \sqrt{\alpha \frac{2}{\alpha + 2}}$$

$$|a_3| \leq \frac{\alpha(3\alpha + 2)}{3}$$

By considering $\zeta = \mu = 0$ and $\gamma = 1$ in Theorem.1 we have the following corollary, a result by Brannan *et al.*[2]

Corollary 6. [2] *Let the function $f(z)$ given by (1.1) is in the class $S_{\Sigma}^*[\alpha]$ with $(0 < \alpha \leq 1; z \in \Delta)$, then*

$$|a_2| \leq \frac{2\alpha}{\sqrt{\alpha + 1}}$$

$$|a_3| \leq 4\alpha^2 + \alpha$$

By considering $m = \lambda = \gamma = 1$ in Theorem.1 we have the following corollary, a result by Seker *et al.*[10]

Corollary 7. [10] *Let the function $f(z)$ given by (1.1) is in the class $N_{\Sigma}^{\zeta, \mu}(\alpha, \gamma)$ with $(0 < \alpha \leq 1; \gamma \geq 1; \zeta \in \mathbb{N}_0; z \in \Delta)$, then*

$$|a_2| \leq \frac{2\alpha}{\sqrt{2^{2\zeta}(1 + \gamma)^2 - \alpha(\gamma(2 + \gamma) + 1) + 2\alpha \cdot 3^{\zeta}(1 + 2\gamma)}}$$

$$|a_3| \leq \frac{2\alpha}{3^{\zeta}(1 + 2\gamma)} + \frac{4\alpha^2}{2^{2\zeta}(1 + \gamma)^2}$$

By considering $m = \lambda = \gamma = \mu = 1$ in Theorem.1 we have the following corollary, a result by Seker *et al.*[10]

Corollary 8. [10] *Let the function $f(z)$ given by (1.1) is in the class $N_{\Sigma}^{\zeta, \mu}(\alpha, \gamma)$ with $(0 < \alpha \leq 1; \gamma \geq 1; \zeta \in \mathbb{N}_0; z \in \Delta)$, then*

$$|a_2| \leq \frac{2\alpha}{\sqrt{2^{2\zeta+2}(1 - \alpha) + 2\alpha \cdot 3^{\zeta+1}}}$$

$$|a_3| \leq \frac{2\alpha}{3^{(\zeta+1)}} + \frac{\alpha^2}{2^{2\zeta}}$$

By considering $m = \lambda = \mu = 1$ in Theorem.1 we have the following corollary, a result by Porwal *et al.*[7]

Corollary 9. [7] Let the function $f(z)$ given by (1.1) is in the class $B_{\Sigma}(\zeta, \alpha, \gamma)$ with $(0 < \alpha \leq 1; \gamma \geq 1; \zeta \in \mathbb{N}_0; z \in \Delta)$, then

$$|a_2| \leq \frac{2\alpha}{\sqrt{4^{\zeta}(\gamma+1)^2 + \alpha[2 \cdot 3^{\zeta}(2\gamma+1) - 4^{\zeta}(\gamma+1)^2]}}$$

$$|a_3| \leq \frac{2\alpha}{3^{\zeta}(2\gamma+1)} + \frac{4\alpha^2}{4^{\zeta}(\gamma+1)^2}$$

4 The function class $N_{\Sigma}^{\zeta, \mu}(m, \gamma, \lambda; \beta)$

Definition 2. A function $f(z)$ of the form (1.1) in the function class Σ is said to be in the class $N_{\Sigma}^{\zeta, \mu}(m, \gamma, \lambda; \beta)$ if and only if

$$\left| \arg \left\{ (1-\gamma) \left(\frac{D_{m, \lambda}^{\zeta} f(z)}{z} \right)^{\mu} + \gamma [D_{m, \lambda}^{\zeta} f(z)]' \left(\frac{D_{m, \lambda}^{\zeta} f(z)}{z} \right)^{\mu-1} \right\} \right| > \beta$$

$(0 \leq \beta < 1; \lambda > 0, \gamma \geq 1; m \in \mathbb{N}; \zeta \in \mathbb{N}_0; \mu \geq 0; z \in \Delta)$
and

$$\left| \arg \left\{ (1-\gamma) \left(\frac{D_{m, \lambda}^{\zeta} g(w)}{w} \right)^{\mu} + \gamma [D_{m, \lambda}^{\zeta} g(w)]' \left(\frac{D_{m, \lambda}^{\zeta} g(w)}{w} \right)^{\mu-1} \right\} \right| > \beta$$

$(0 \leq \beta < 1; \lambda > 0, \gamma \geq 1; m \in \mathbb{N}; \zeta \in \mathbb{N}_0; \mu \geq 0; w \in \Delta)$, where $g := f^{-1}$.

Remark 2. 1 If $m = 1$ in Definition.1 we have, $N_{\Sigma}^{\zeta, \mu}(1, \gamma, \lambda; \beta) = N_{\Sigma}^{\lambda, \mu}(\zeta, \beta, \gamma)$ the class introduced and studied by Sarep Bulut[9].

2 If $m = \lambda = 1$ in Definition.1 we have, $N_{\Sigma}^{\zeta, \mu}(1, \gamma, 1; \beta) = N_{\Sigma}^{\zeta, \mu}(\alpha, \beta)$ the class introduced and studied by Bilal Seker et al.[10].

3 If $\zeta = 0$ in Definition.1 we have, $N_{\Sigma}^{0, \mu}(m, \gamma, \lambda; \beta) = N_{\Sigma}^{\mu}(\alpha, \beta)$ the class introduced and studied by Caglar et al.[3].

4 If $\zeta = 0$ and $\mu = 1$ in Definition.1 we have, $N_{\Sigma}^{0, 1}(m, \gamma, \lambda; \beta) = \mathfrak{B}_{\Sigma}(\alpha, \beta)$ the class introduced and studied by Frasin and Aouf[5].

5 If $\zeta = 0$ and $\mu = \gamma = 1$ in Definition.1 we have, $N_{\Sigma}^{0, 1}(m, 1, \lambda; \beta) = H_{\Sigma}^{\beta}$ the class introduced and studied by Srivastava et al.[11].

6 If $\zeta = \mu = 0$ and $\gamma = 1$ in Definition.1 we have, $N_{\Sigma}^{0, 0}(m, 1, \lambda; \beta) = S_{\Sigma}^{*}[\beta]$ the class of strongly bi-starlike functions of order α , studied by Brannan and Taha[2].

7 If $\mu = 1$ and $m = \lambda = 1$ in Definition.1 we have, $N_{\Sigma}^{\zeta, 1}(1, \gamma, 1; \beta) = \mathfrak{B}_{\Sigma}(\zeta, \beta, \gamma)$ the class introduced and studied by Porwal and Darus [7]

5 Coefficient bounds for the function class $N_{\Sigma}^{\zeta, \mu}(m, \gamma, \lambda; \beta)$

Theorem 2. Let the function $f(z)$ given by (1.1) is in the class $N_{\Sigma}^{\zeta, \mu}(m, \gamma, \lambda; \beta)$ with $(0 \leq \beta < 1; \lambda > 0, \gamma \geq 1; m \in \mathbb{N}; \zeta \in \mathbb{N}_0; \mu \geq 0; z \in \Delta)$, then

$$|a_2| \leq \min\left\{ \frac{2(1-\beta)}{(1+c_j^m(\lambda))^{\zeta(\gamma+\mu)}}, \sqrt{\frac{4(1-\beta)}{|2(1+2c_j^m(\lambda))^{\zeta} + (1+c_j^m(\lambda))^{2\zeta}(\mu-1)|(2\gamma+\mu)|}} \right\}$$

and

$$|a_3| \leq \min\left\{ \frac{4(1-\beta)^2}{(1+c_j^m(\lambda))^{2\zeta(\gamma+\mu)^2} + \frac{2(1-\beta)}{(1+2c_j^m(\lambda))^{\zeta(2\gamma+\mu)}}}, \frac{(1-\beta)[|H| + (1+c_j^m(\lambda))^{2\zeta}|\mu-1|]}{(2\gamma+\mu)(1+2c_j^m(\lambda))^{\zeta}|H-2(1+2c_j^m(\lambda))^{\zeta}|} \right\}$$

where $H = 4(1+2c_j^m(\lambda))^{\zeta} + (1+c_j^m(\lambda))^{2\zeta}(\mu-1)$

Proof. Definition.2 can be writtern as,

$$(5.1) \quad (1-\gamma)\left(\frac{D_{m,\lambda}^{\zeta}f(z)}{z}\right)^{\mu} + \gamma[D_{m,\lambda}^{\zeta}f(z)]'\left(\frac{D_{m,\lambda}^{\zeta}f(z)}{z}\right)^{\mu-1} = \beta + (1-\beta)c(z), \quad (z \in \Delta)$$

$$(5.2) \quad (1-\gamma)\left(\frac{D_{m,\lambda}^{\zeta}g(w)}{w}\right)^{\mu} + \gamma[D_{m,\lambda}^{\zeta}g(w)]'\left(\frac{D_{m,\lambda}^{\zeta}g(w)}{w}\right)^{\mu-1} = \beta + (1-\beta)d(w), \quad (w \in \Delta)$$

where $c(z)$ and $d(w)$ are in \mathbb{P} and have the series expansions

$$c(z) = 1 + c_1z + c_2z^2 + \dots$$

and

$$d(z) = 1 + d_1z + d_2^2w^2 + \dots$$

Equating the coefficients of z, z^2, w and w^2 by using the above equations in (5.1) and (5.2), we get

$$(5.3) \quad (1+c_j^m(\lambda))^{\zeta(\gamma+\mu)}a_2 = (1-\beta)c_1$$

$$(5.4) \quad (1+2c_j^m(\lambda))^{\zeta}(2\gamma+\mu)a_3 + (1+c_j^m(\lambda))^{2\zeta}(\mu-1)\left(\gamma + \frac{\mu}{2}\right)a_2^2 = (1-\beta)c_2$$

$$(5.5) \quad -(1+c_j^m(\lambda))^{\zeta(\gamma+\mu)}a_2 = (1-\beta)d_1$$

$$(5.6) \quad (1 + 2c_j^m(\lambda))^\zeta (2\gamma + \mu)(2a_2^2 - a_3) + (1 + c_j^m(\lambda))^{2\zeta} (\mu - 1) \left(\gamma + \frac{\mu}{2}\right) a_2^2 = (1 - \beta)d_2$$

From (5.3) and (5.4), we obtain

$$(5.7) \quad c_1 = -d_1$$

and

$$(5.8) \quad 2(1 + c_j^m(\lambda))^{2\zeta} (\gamma + \mu)^2 a_2^2 = \alpha^2 (c_1^2 + d_1^2)$$

Also by adding (5.4) and (5.6) we have

$$(5.9) \quad [2(1 + 2c_j^m(\lambda))^\zeta + (1 + c_j^m(\lambda))^{2\zeta} (\mu - 1)](2\gamma + \mu)a_2^2 = (1 - \beta)(c_2 + d_2)$$

From (5.8) and (5.9) we can find the values of a_2^2 . Then we apply triangular inequality and Lemma.1.1. By taking square root we obtain the desired results. Now to find the bound for $|a_3|$, first we subtract (5.6) from (5.4). Thus we get

$$(5.10) \quad 2(1 + 2c_j^m(\lambda))^\zeta (2\gamma + \mu)a_3 - 2(1 + 2c_j^m(\lambda))^\zeta (2\gamma + \mu)a_2^2 = (1 - \beta)(c_2 - d_2)$$

Using the values of a_2^2 from (5.8) and (5.9) we get two different values for a_3 respectively,

$$(5.11) \quad a_3 = \frac{(1 - \beta)^2 (c_1^2 + d_1^2)}{2(1 + c_j^m(\lambda))^{2\zeta} (\gamma + \mu)^2} + \frac{(1 - \beta)(c_2 - d_2)}{2(1 + 2c_j^m(\lambda))^\zeta (2\gamma + \mu)}$$

$$(5.12) \quad a_3 = \frac{(1 - \beta)\{[4(1 + 2c_j^m(\lambda))^\zeta + (1 + c_j^m(\lambda))^{2\zeta} (\mu - 1)]c_2 - (1 - c_j^m(\lambda))^{2\zeta} (\mu - 1)d_2\}}{2(2\gamma + \mu)(1 + 2c_j^m(\lambda))^\zeta [2(1 + 2c_j^m(\lambda))^\zeta + (1 + c_j^m(\lambda))^{2\zeta} (\mu - 1)]}$$

By applying triangular inequality along with the Lemma.1.1 in (5.11) and (5.12) we get the desired bound for $|a_3|$. \square

By considering $m = 1$ in Theorem.2 we have the following corollary, a result by Serap[9]

Corollary 10. [9] Let the function $f(z)$ given by (1.1) is in the class $N_{\sum}^{\zeta, \mu}(\gamma, \lambda; \beta)$ with $(0 \leq \beta < 1; \lambda \geq 0, \gamma \geq 1; \zeta \in \mathbb{N}_0; \mu \geq 0, z \in \Delta)$, then

$$|a_2| \leq \min\left\{ \frac{2(1 - \beta)}{(1 + \lambda)^\zeta (\gamma + \mu)}, \sqrt{\frac{4(1 - \beta)}{|2(1 + 2\lambda)^\zeta + (1 + \lambda)^{2\zeta} (\mu - 1)| (2\gamma + \mu)}} \right\}$$

$$|a_3| \leq \min\left\{ \frac{4(1 - \beta)^2}{(1 + \lambda)^{2\zeta} (\gamma + \mu)^2} + \frac{2(1 - \beta)}{(1 + 2\lambda)^\zeta (2\gamma + \mu)}, \frac{(1 - \beta)[|L| + (1 + \lambda)^{2\zeta} |\mu - 1|]}{(2\gamma + \mu)(1 + 2\lambda)^\zeta |L - 2(1 + 2\lambda)^\zeta|} \right\}$$

where $L = 4(1 + 2\lambda)^\zeta + (1 + \lambda)^{2\zeta} (\mu - 1)$

The following results can be considered as an improvement result for already proved results by several authors.

By considering $m = \lambda = 1$ in Theorem.2 we have the following corollary, an improvement result for Seker *et al.*[10]

Corollary 11. [10] *Let the function $f(z)$ given by (1.1) is in the class $N_{\Sigma}^{\zeta, \mu}(\gamma; \beta)$ with $(0 \leq \beta < 1; \gamma \geq 1; \zeta \in \mathbb{N}_0; \mu \geq 0, z \in \Delta)$, then*

$$(5.13) \quad |a_2| \leq \min\left\{\frac{2(1-\beta)}{2^{\zeta}(\gamma+\mu)}, \sqrt{\frac{2(1-\beta)}{|3^{\zeta} + 2^{2\zeta-1}(\mu-1)|(2\gamma+\mu)}}\right\}$$

$$(5.14) \quad |a_3| \leq \min\left\{\left(\frac{2(1-\beta)}{2^{\zeta}(\gamma+\mu)}\right)^2 + \frac{2(1-\beta)}{3^{\zeta}(2\gamma+\mu)}, \frac{2(1-\beta)|3^{\zeta} + 2^{2\zeta-2}(\mu-1)| + 2^{2\zeta-2}|\mu-1|}{(2\gamma+\mu)3^{\zeta}|3^{\zeta} + 2^{2\zeta-2}(\mu-1)|}\right\}$$

By considering $\zeta = 0$ in Theorem.2 we have the following corollary, a result by Caglar *et al.*[3]

Corollary 12. [3] *Let the function $f(z)$ given by (1.1) is in the class $N_{\Sigma}^{\mu}(\gamma; \beta)$ with $(0 \leq \beta < 1; \gamma \geq 1; \mu \geq 0, z \in \Delta)$, then*

$$(5.15) \quad |a_2| \leq \min\left\{\sqrt{\frac{4(1-\beta)}{(\mu+1)(2\gamma+\mu)}}, \frac{2(1-\beta)}{\gamma+\mu}\right\}$$

$$(5.16) \quad |a_3| \leq \begin{cases} \min\left\{\frac{4(1-\beta)}{(\mu+1)(2\gamma+\mu)}, \frac{4(1-\beta)^2}{(\gamma+\mu)^2} + \frac{2(1-\beta)}{2\gamma+\mu}\right\} & , 0 \leq \mu < 1 \\ \frac{2(1-\beta)}{(2\gamma+\mu)} & , \mu \geq 1 \end{cases}$$

By considering $\zeta = 0$ and $\mu = 1$ in Theorem.2 we have the following corollary, an improvement of the result by Frasin *et al.*[5]

Corollary 13. [5] *Let the function $f(z)$ given by (1.1) is in the class $\mathfrak{B}_{\Sigma}(\gamma; \beta)$ with $(0 \leq \beta < 1; \gamma \geq 1; z \in \Delta)$, then*

$$(5.17) \quad |a_2| \leq \min\left\{\sqrt{\frac{2(1-\beta)}{(2\gamma+1)}}, \frac{2(1-\beta)}{\gamma+1}\right\}$$

$$(5.18) \quad |a_3| \leq \frac{2(1-\beta)}{2\gamma+1}$$

By considering $\zeta = 0$ and $\mu = \gamma = 1$ in Theorem.1 we have the following corollary, an improvement of the result by Srivastava *et al.*[11]

Corollary 14. [11] Let the function $f(z)$ given by (1.1) is in the class H_{Σ}^{α} with $(0 < \alpha \leq 1; z \in \Delta)$, then

$$(5.19) \quad |a_2| \leq \begin{cases} \sqrt{\frac{2(1-\beta)}{3}} & , 0 \leq \beta \leq \frac{1}{3} \\ 1 - \beta & , \frac{1}{3} \leq \beta < 1, \end{cases}$$

$$(5.20) \quad |a_3| \leq \frac{2(1-\beta)}{3}$$

By considering $\zeta = \mu = 0$ and $\gamma = 1$ in Theorem.2 we have the following corollary, an improvement of the result by Brannan *et al.*[2]

Corollary 15. [2] Let the function $f(z)$ given by (1.1) is in the class $S_{\Sigma}^*[\beta]$ with $(0 \leq \beta < 1; z \in \Delta)$, then

$$(5.21) \quad |a_2| \leq \sqrt{2(1-\beta)}$$

$$(5.22) \quad |a_3| \leq \begin{cases} \sqrt{2(1-\beta)} & , 0 \leq \beta \leq \frac{3}{4} \\ (1-\beta)(5-4\beta) & , \frac{3}{4} \leq \beta < 1, \end{cases}$$

By considering $m = \lambda = \mu = 1$ in Theorem.2 we have the following corollary, a result by Porwal *et al.*[7]

Corollary 16. [7] Let the function $f(z)$ given by (1.1) is in the class $B_{\Sigma}(\zeta, \alpha, \beta)$ with $(0 \leq \beta < 1; \gamma \geq 1; \zeta \in \mathbb{N}_0; z \in \Delta)$, then

$$(5.23) \quad |a_2| \leq \min \left\{ \frac{2(1-\beta)}{2^{\zeta}(\gamma+1)}, \sqrt{\frac{2(1-\beta)}{3^{\zeta}(2\gamma+1)}} \right\}$$

$$(5.24) \quad |a_3| \leq \frac{2(1-\beta)}{3^{\zeta}(2\gamma+1)}$$

References

- [1] F.M.Al-oboudi, *On univalent functions defined by a generalized Salagean operator*, International Journal of Mathematics and Mathematical Sciences, 27(2004), pp.1429-1436.
- [2] D.A.Brannan and T.S.Taha, *On some classes of bi-univalent functions*, Studia Universitatis Babeş-Bolyai, Mathematica, 31(2)(1986), pp.70-77.
- [3] M.Caglar, H.Orhan and N.Yagmur, *Coefficient bounds for new subclasses of bi-univalent functions*, Filomat, 27(7)(2013), pp.1165-1171.

- [4] P.L.Duren, *Univalent functions*, Springer, 1983.
- [5] B.A.Frasin and M.K.Auof, *New subclasses of bi-univalent functions*, Applied Mathematics Letters, 24(9)(2011), pp.1569-1573.
- [6] B.A.Frasin, *A new differential operator of analytic functions involving binomial series*, Boletim da Sociedade Paranaense de Matematica, 38(5)(2020), pp.205-213.
- [7] S.Porwal and M.Darus, *On a new subclass of bi-univalent functions*, Journal of Egyptian Mathematical Society, 21(3)(2013), pp.190-193.
- [8] G.S.Salagean, *Subclasses of univalent functions*, Lecture notes in Mathematics, Springer, 1013(1983).
- [9] B.Sarap, *Coefficient estimates for new subclasses of analytic and bi-univalent functions defined by Al-Oboudi differential operator*, Journal of Function Spaces and Applications, 2013(2013), Article.ID:181932, 7pages.
- [10] B.Seker and V.Mehmetoglu, *Coefficient bounds for new subclasses of bi-univalent functions*, New Trends in Mathematical Sciences, 4(3)(2016), pp.197-203.
- [11] H.M.Srivastava, A.K.Mishra and P.Gochhayat, *Certain subclasses of analytic and bi-univalent functions*, Applied Mathematics Letters, 23(10)(2010), pp.1188-1192.